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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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08:10 190 70.0 =] {Ri%e08:10 F& (KAL)
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EORGEBIRTC (190) 5748 (152. 0) A FF, AIeEH T % @R #EiRS %2 XiERT

BRI\ SLFRIEREST7. 0 ml.

large discrepency for begining water status (183:33.0), set to 153.0 ml.
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P3-9

EfiE [ CEBAK B) | BRE ERH/H)_[XS iR

02:20 190 70.0 5| 1Ri%e02:20 F31 CGREAMEEE)
03:20 190 70.0 | 1Ri%e03:20 Fx (REERE)
06:40 190 70.0 5| 1Ri%006:40 F31 CREERE)
08:40 190 70.0 | {Rik@08:40 F ) (KREERE)
10:20 190 70.0 | 1Ri%e10:20 F31 (REAEREE)
11:35 190 70.0 5| 1Ri%e11:35 FH1 GREAERE)
12:40 190 70.0 5| 1Ri%e12:40 F31 CGREAMEEE)
13:50 190 70.0 5| {Ri%013:50 Fa (KREAEREE)
15:00 190 70.0 5| 1Ri%e15:00 F1 (REEREE)
2it[1710.0 (9%) 630.0 #2i3#KEC: 2080.0, PH: 6.0

FEREHER 2 STEELRTF (124.0

BRI\ SEFRIERE8T7. 0 ml.

87.0), AIREAT—@E XAE5)
EORGEBIRTC (190) 5748 (152. 0) A FF, AIREH T % @R #EiRS %2 XiER

unusual large postFgEt from yesterday (226), set to 210.0 ml.
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P3-9

BfiE) | BRI (D) | EE (EH/AR) | XK R

07:00 190 80.0 5| 1Ri&e07:00 Fzh (KREAERS)
08:00 190 80.0 |Z=| {Ri%e08:00 Fz1 (KEEZEHE)
09:00 190 80.0 FE| 1BRi&@09:00 Fzh (RAAEREIZE)
10:00 190 80.0 FH| {Ri%@10:00 F&1 (KRAHERESE)
11:10 190 80.0 =] BRige11:10 Fzh (REAEESE)
12:25 190 80.0 = Bige12:25 Fz (GREAERESE)
13:35 190 80.0 | 1Ri%e13:35 Fx (REAHEREE)
14:45 190 80.0 = BRiBe14:45 Fz (GREAEESE)
2it]1520.0 (8%) 640. 0 328053 %EC: 2080.0, PH: 6.0

FEREHERE STEELRF (124.0

BRIASERRIERES6. 0 ml.

86.0), AIREMT—@Z XA

FEREEBEC (2600.0) 5i&EEC (2000.0) RERK, BT




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=24 (2025-04-26)
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